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Section 6.1 Exercises

In Exercises 1-6, find an antiderivative for the function.
Confirm your answer by differentiation,
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In Exercises 7-24, evaluate the integral.
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In Exercises 25 and 26, (a) determine which graph shows the
solution of the initial value problem without actually solving the
problem. (b) Writing to Learn Explain why you eliminated
two of the possibilities.
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In Exercises 27-30, solve the initial value problern, Support your
.answer by overlaying your solution on a slope field for the 2.2 by [-3,3]
differential equation. _ : e f—t) = —
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"ln Exercises 31-38, solve the initial valne problem. 7
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dr In Exercises 4548, confirm the integration formula by
. dy — l, y(e) =0 differentiation.
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In Exercises 39-42, the velocity v = ds/dt or acceleration
a=dv/dr of a body moving along a coordinate line is given.
Find the body’s position s ar time 7.

3 v=08+ 5 s =10
4l.a=37, s(0) =0,
4 a = cos f, s(0)y=1.

40. v = sin 77,
vil) =20
w0} = —)

s{y=0

' Exercises 43 and 44, waork in groups of two or three. Draw a
Possible graph for the function £ with the given slope field that
Satisfies the stated condition,
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() Find a solutien 1o the differential equation in the interval
(0, eo) that satisfies y{1) = 2.

(b} Find a solution to the differential equation in the interval
(o, 0) that satisfies y(~1) = |.

(c} Show that the following piecewise function is a solution
to the differential equation for any values of €| and C,.
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{d} Choose values for C, and C, s0 that the solution in
part (c) agrees with the solutions in parts (a) and (b).

() Choose values for ) and €, so that the solution in
part {c} satisfies y(2) = —1 and y(=2) = 2. |



